
ASSEMBLY INSTRUCTIONS

GRAND + BENEDICTS | 503-797-0630 | www.grand-benedicts.comPAGE: 1 OF 4

952 - QUAD - ( 4WAY )  



STEP 1:

ASSEMBLY INSTRUCTIONS

GRAND + BENEDICTS | 503-797-0630 | www.grand-benedicts.comPAGE: 2 OF 4

 

SBHC SCREW 1/4" - 20 X 0.625"



SBHC SCREW 5/16" - 18 X 0.5625

STEP 2:

ASSEMBLY INSTRUCTIONS

GRAND + BENEDICTS | 503-797-0630 | www.grand-benedicts.comPAGE: 3 OF 4

 

SBHC SCREW 5/16" - 18 X 2.75"



STEP 3:

ASSEMBLY INSTRUCTIONS

GRAND + BENEDICTS | 503-797-0630 | www.grand-benedicts.comPAGE: 4 OF 4

 
SBHC SCREW 1/4" - 20 X 0.625"


